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Tier & Question

-5[a-65-7]6-8]

Sizing

14]9 (2

Correct response

Additional guidance

2m | Gives the correct order of A, C, B accompanied

m

by one of the following explanations, whether
stated or implied:

Side lengths of A and C are 6 (or V36) and
9 (o 36 + 4) respectively
Area of Cis 81 (or 9 x 9)

Perimeter of A is 24 (or 6 x 4)

Gives one of the correct explanations as above,
but does not order or orders incorrectly

Gives the correct ordering but justifies only
with reference to the side length of A

25 6 (or V36)

Gives the correct ordering but justifies only
with reference to the side length of C

259 or 36+ 4)

Shows both that
the area of B is 1296 (or 36 x 36)
and the perimeter of B is 144 (or 36 x 4)

t Correct order given in unconventional way
Accept provided it is unambiguous
eg, accept
* Area, perimeter, side length

 For 2m or 1m, side length of A implied by
6x 6 seen

t For 2m or 1m, incorrect working or
incorrect units alongside a correct response
Ignore

! Their explanation does not explicitly state
which property andfor square is being
considered
Accept provided the explanation links the
relevant values to 36 and accompanies the
correct ordering
eg, for side lengths of A and C
for 2m accept

* Area36s06
perimeter 36 50 9,
AGB
“36=6x6
369494949
ACH
for 1m accept
“36=6x6
AGB
However, as many of the relevant values can
be obtained from incorrect reasoning, do not
accept only values 6 and 9 seen
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Tier & Question

Ks and ms

Correct response

Draws any shape with perimeter 4 + m
L

Gives a correct expression
<

.

. 2xm

. 2mx2me2

Gives a correct expression
L

4k

4xk

4k x 2k +2

. (kX k) 4 4

Additional guidance

1 Lines not ruled or drawn accurately
Accept provided the pupil’s intention is clear

t Multiple attempts with some incorrect
Accept provided it is clear which is the
pupil’s final answer

1 Units given
Ignore

 Correct expression that is incorrectly
simplified
eg, for pare (b)
< mxom=3m
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[ier & Question

Ks and ms (cont)

b-sfae]s]
19]14] 7 Correct response Additional guidance
d{d1m| Gives a correct explanation  Explanation uses Pythagoras’ theorem

@

« They are the same triangle so 201
hence it = 2k

« The areas of the triangles are equal, and
if you divide 2nr* by 2 you get m?,
divide 4K by 2 you get 26

« 1f you multiply both sides by 2, you et the
areas of the two triangles. Since they are
the same, they must be equal

e
* Using Pythagoras, m

Bl
 Minimally acceptable explanation

8
o=k

Explanation equates expressions for parts
(b) and (c) that are correct but not simplified|
Accept as minimal provided neither
expression is a quotient or includes
a division sign
eg, accept
“2xmxm=2xkx2xk
eg, do not accept
“mx2ms2=4kx2ke2

Follow through

Accept only if both parts (b) and (c) are

incorrect, but not m* and 2/, and neither

expression is a quotient or contains a

division sign, and they lead to the

relationship shown in part (d)

eg, from (b) as 4m* and (c) as 8K, accept
o dm = 88

% Incomplete explanation
L
* The areas of the triangles are equal
« Divide them by 2
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Correct response

Indicates Cuboid A and gives a correct
explanation

“The most common correct explanations:

Show the correct surface area for both A and D

= The surface area of A is 66, but D is 40

Consider the number of cube faces that
are not visible

g
= Each cube in D has 3 or 4 faces that cannot
be seen but each cube in A has only 1 or 2
a Fewer faces of the cubes are touching each
other in A

Consider the number of cube faces that
are visible

o

= In A the cubes show 4 o 5 faces, but in D
its2or3

= There are more cube faces facing out on A
than on D

! Units inserted
Ignore

/ Minimally acceptable explanation
eg, for the correct surface areas
* 66 and 40 seen
 4x16+ 2is bigger than 4 x 8 + §
eg, for cube faces that are not visible
* There are fewer hidden faces in A
+ D is more compact
eg, for cube faces that are visible
+ Cubes in A show 4 or more faces,

D shows less than 4

« Ahas more faces showing
« Ais more spread out

Use of ‘sides’ for cube faces
Condone

eg, accept
« More sides face out on A

Descriptors of cube faces

Note that pupils use a wide range of terms

to describe the cube faces

eg, for cube faces that are not visible

* Hidden faces

« Faces pointing inside

« Faces touching

eg, for cube faces that are visible

* Faces facing out

* Faces showing

* Faces you can see

Condone provided the pupil does not

explicitly refer to the area of only one of the

faces of each cuboid

eg, do not aceept

* You can sce 8 faces on D and 16 faces,
onA

X Use of ‘square’ for cube or cuboid
&
* You can see more of each square’s
surface in A than in D

x Explanation is simply a description of one
or both of the cuboids
eg
* In Aall 16 are in a line and not on top
of each other
+ D is two cubes high

x Incorrect statement.

eg
« Each cube in A shows 4 faces; D is 3
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[rer 8 Question

Cuboids (cont)

Correct response

Additional guidance

Indicates All the same

Shows, in any order, all four correct sets of
dimensions
8

Shows three correct sets of dimensions

Shows two correct sets of dimensions

! Repeated sets of dimensions
s
“1 38
18 3 (repeated)
226
6 2 2 (repeated)
Ignore the repeats and mark as 1,0, 0

 Negative or non-integer dimensions used
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Cuboids

Correct response

Indicates Cuboid A and gives a correct
explanation

“The most common correet explanations:

Show the correct surface area for both A and D

 The surface area of A is 66, but D is 40

Consider the number of cube faces that
are not visible

et i s
be seen but each cube in A has only 1 or 2
= Fewer faces of the cubes are touching each
other in A

Consider the number of cube faces that
are visible

= In A the cubes show 4 or § faces, butin D
its2or 3

= There are more cube faces facing out on A
than on D

Additional guidance

! Units inserted
Ignore

 Minimally acceptable explanation
eg, for the correct surface areas
* 66 and 40 seen
“ 416+ 2is biggerthan 4 x 8.4 8
eg, for cube faces that are not visible
“There are fewer hidden faces in A
D is more compact
eg, for cube faces that are visible
+ Cubes in A show 4 or more faces,
D shows less than 4
* A has more faces showing
+ Ais more spread out

Use of ‘sides’ for cube faces
Condone
eg, accept

* More sides face out on A

Descriptors of cube faces
Note that pupils use a wide range of terms
t0 describe the cube faces
eg, for cube faces that are not visible

* Hidden faces

* Faces pointing inside

+ Faces touching
eg, for cube faces that are visible

* Faces facing out

* Faces showing.

+ Faces you can see
Condone provided the pupil does not
explicrly refer to the area of only one of the
faces of each cuboid
eg, do not accept

* You can see 8 faces on D and 16 faces

onA

X Use of ‘square for cube or cuboid
L
+ You can see more of each square’s
surface in A than in D

X Explanation i simply a description of one
or both of the cuboids.
* In Aall 16 are in a line and not on top

of each other
* D is two cubes high

X Incorrect statement.

g
« Each cube in A shows 4 faces; D is 3
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[rer  Question|

l3-s[a-6[s-7]e-8

Cuboids (cont)

16[ 92

Correct response

Additional guidance

bbb

Indicates All the same

Shows, in any order, ll four correct sets of
dimensions
e

Shows three correct sets of dimensions

Shows two correct sets of dimensions

! Repeated sets of dimensions
L

‘1 8
1 3 (repeated)
2 6
6 2 2 (repeated)
Ignore the repeats and mark as 1,0, 0

x Negative or non-integer dimensions used
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[rier & Queston
-sla-6[s-7]

3-D cut

Correct response

Additional guidance

2m

or

30V2 or 42 or 42.(..)

Shows or implies a correct method for the
length of one side of the base
™
. 1002
200
. V(10" 4+ 10"
. 140400
® 1AL %10
10
s
10
s

x For 2m or 1m, length(s) found only through
scale drawing

! Length rounded
Accept 14 or 14.1 provided there is no
evidence of an incorrect method
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Square cut

Correct response

‘Additional guidance

42, with no evidence of an incorrect method

Shows or implies that the square is a 9(cm) by
9(cm) square
g

® 7x6scen

= Area of square = 81

or

Shows or implies a correct method in which the
only error is to use an incorrect value for the
shorter horizontal side of rectangle A
t
® 124228 (erron, 8+ 3= 11
11-2-9,8x9=72

& 4 (error)

x Incorrect method

g
©1242=14,14x3=42
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[Tier & Question

sl Pentagon
Correct response Additional guidance
1m| Draws only two more lines on the grid to make Lines not ruled or accurate

a pentagon with area 14cm*
8

‘Accept provided the pupil's intention is clear

X More than two lines drawn

8
* Given line(s) extended
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Square cut

Correct response

‘Additional guidance

42, with no evidence of an incorrect method

Shows or implies that the square is a 9(cm) by
9lcm) square
L

® 7x6scen

= Area of square = 81

or

Shows or implies a correct method in which the
only error is to use an incorrect value for the
shorter horizontal side of rectangle A
t
® 1242=8(error), 8+ 3 =11
11-2=9,8x9=72

4 (error)

x Incorrect method

g
©1242=14,14x3=42
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Correct response

Completes all six entries correctly, ie
Atea  Perimeter
SquareA 64 32
Recuangle B 32 2
Square C 16 16

Completes at least four entries correctly

Completes either columa correctly

Completes any one row correctly
or

Gives an incorrect value for the area of square
A, but not 8, then follows through correctly, by
halving each time, to find the other two areas
Y
. Area
Square A 60 (error)
Recuangle B 30
SquareC 15

or

Gives the two columns transposed but
otherwise correct

2

Indicates that the perimeter i greater than
24cm and gives a correct explanation

ey

@ 848+ a number bigger than § i bigger
than 24

 The hypotenuse is longer than Scm and the.
other two are Scm

 The diagonal is the longest side so it is
eater than Sem

o K128, VI2 8

=,
provided this was act 8, or thale ares of
Tectangle B, provided this was not 4

/ Minimally acceptable explanation

@
* It doesn't have 3 equal sides

« The slope is the biggest side

* The fold is 11....) (or V1
“12858

« The longer side is about 10

* The perimeter would be more like 26

1 Incormect units inserted
Ignore

X Incorrect statement

@
* The longer side is 10
* The perimeter is 26

Note to markers: The length of the hypotenuse:
s 11.3cm and the perimeter is 27.3cm, to 3 8.
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Rectangles and squares

Correct response

Additional guidance

Value repeated
Accept provided there is no ambiguity
eg, for part (a) accept

“abya
eg, for part (a) do not accept

caxa

For parts (a) and (b), response of 16 then 20
Mark as 0, 1
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Tier & Question

Parallelogram

Correct response

Additional guidance

2m!

Gives the correct value with a correct unit

» 35em’

Shows the value 35

Shows a complete correct method with not more
than one computational error and with a correct
unit for area shown at least once

e

7 5 and cm* seen

(10-3) x 5 and em* seen

10x 5 -3 x § and em? seen

50-7.5 - 7.5 and cm seen
4x542x 155 and cm? seen

® 50-2x6.5 (error) = 37 and cm’ seen

X For tm, necessary brackets omitted
@
“10-3x5
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e & uestion ¢
Perimeters
5]
Correct response Additional guidance
a|1m | Draws the correct triangle in any orientation ! Lines not ruled or accurate
« Accept provided the pupil's intention is clear

__:g___ t Side lengths labelled
Ignore, even if incorrect

b 1m | Draws a correct shape in any oricntation,ie

RS

;
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Tier 8 Queston

Parallelogram
slaelsales
23[1a[ 3 Correct response ‘Additional guidance
2m|[ Gives the correct value with a correct unit
@ i
o 35em?
1m | Shows the value 35

Shows a complete correct method with not more
than one computational error and with a correct
unit for area shown at least once

75 and m? seen

(10-3) x 5 and e seen

10x §-3x 5 and em’ seen
50-7.5-7.5 and em’ seen
4x5+2x 1.5 x5 and e’ seen
502 x 6.5 (error) = 37 and cm* seen

X For tm, necessary brackets omitted
e
©10-3x5
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Square tiles

I Corect response

Additional guidance

1m | Shows the correct unit for their area

= cm? [with 54]
= mm? [with 5400]

1m| Gives a correct value for the area of the rectangle
Y
. s
- 400

Area incorrect or omitted, but wnits given
1f the mark for their correct area has not
been awarded, condone cm? seen for the
second mark
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Area

Correct response.

‘Additional guidance

m

Gives both correct areas, ie 9 then 3





image25.jpg
Tier & Queston

Side length

53] 63|
27(19]10|

Correct response

Additional guidance

@

6.3 or equivalent

Shows the value 25.2 or equivalent
or

Shows a complete correct method with not more
than one computational error
LY
" BAx3ed4
B (844 84484) 44
# 844844842256 (error),
25644264

x For Im, necessary brackets omitted
©
©BAe8ALBAed
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e Question :
Perimeters
BRI
125/16] 6 Correct response
alala|im| 7043 Unsimplified expression or unconventional
notation
e
L de18
3
. U2xas18)46
Condone
Necessary brackets omitted
e
‘4441846
b|b|b[im| 5
cfefe|tm] 24 Units given
Ignore, even if incorrect for a perimeter
eg, accepr
*2dem
* 24cm®
Incomplete processing

eg
“axe6
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Tir & Queston

Dimensions

Correct response

[v] area

V'] volume

tm | Makes two correct decisions

‘Additional guidance
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x=10 and y = 39 or squivalent
1m  Givesy=39 or equivaent
o
Gives the two values transposed, ie
x=39 or equivalent andy = 10
o
Shows a complate corract method with not more:
than one computations! error
e
* x=10,10-61= 49 (error)
o 4x61=244,40-244 = 165 (emor)
166+4=415,415+61 = 1025

o 40+ 4= 20(emor)
2-61=139
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|...,._,_._

u

Shows a correct method with not more than one
computational eror
The most comman correct methods:

Calculate the area of the thombus as half the area of
the rectangre

-

. Jexg

.2

Work with 2 0r & tiangles.

g
* Area of one it triangie s haf of 3 x 4,
there are 4 it triangles s0 x 4
o (6x4)+2= 1feron, 14x2-28
* Briangles atogether, 5o one i
48+8=7 (emror, 4 shaded 0 4 x7 = 28
* Areaofrectangle: %8 = 48,
Area of white riangle:} x 3x 4 =6
46 = 18 (eror, answer 30

‘Shows the corract unt for thei area or method
9

o 2em?

* 2000mm’

 Concoptus armor
b P ——

1 Area incomect or omitted. but units given
e markis) for th correct area have nt been
swarded, condone cm’seen for the thc mark
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T b s

s aa
I Mark Corect response

200, with no evidence of an incorect mathod
Shows or implies thata = 5

Shows or mplies that the area of one rectang e
%0

Shows a complete corract method with not more
than one computationa error

g

* 16a=80,50a = 6 error)
6x12=7272x4=288

Shape
Additional guidance
1 Error made in coefficient of &

Fol owhvough with the vabue provded

125 cosficent of a5 20

B

« 128 ferror) - 80, 0= 65

66x132x4=348
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Correct response

Gives the correct expression for wea A, ie
AreaA=y+ 3w

Gives the comect expression for rea B, ie
AcaB=yew

Circle shapes
Additions guidance

| Throughout the question, unconventional
notation or unsimplified expressions.
Condone
eg.for Area A, accopt
o yedxw
yrwewew
e, for Avea B, accopt
o lpetw
o yedw-w

1 Answers for Area A and Area B transposed
but otherwise correct
Mark 250, 1

1 Answers for Area A and Area B correct
followed by incorrect further processing
Markas0, 1
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Mark Correct response

1m  Gives a shape with area a + 2b, ie 16 small triangles

LN

g

1m  Gives a shape with area a - b, e 4 small tiangles

eg

o

57

Shape area
‘Additional guidance

1 Lines not ruled or accurate
Accept provided the pupils ntention is dear

V' Internal lines shown
eg.forpart )

% Shape formed with riangles and trapezium
not joined side to side
og.forpart

1 Other shapes drawn
A these could be trial, ignore.
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T
as
Mark Correct response ‘Additional guidance

m

)

Shows the value &

Shows a complete correct method with not
more than ne computationsl error

eg

* 72+12=8(emor), 10 x 8= 80

Two shapes
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Correct response Additional guidance

Gives both correct lengths, ie

x=10 and y = 39 or equiv

39 or equivalent

Gives the two values transposed, ie
x= 39 or equivalent and y = 10
or

Shows a complete correct methad with not more
than one computational error

2 10,10-61 - 49(amon

© 4x61=244,40-244 = 166 (error)
16642415415 + 61 = 1025

o 40+ 4= 20 (error)
20-61=139

Missing lengths
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55 44, Rhombus
Mark Corrct response ‘Additional guidance.

m
or
m  Shows a correct method with not mre than one
computatinal error
The most cmmon correct methods:
Caleulate the area of the thombus as hlf the area of
the rectangle
°g
s
. jexe
.« a2
Work with 2 o 4 iangles % Conceptual error
°g g
+ Aveaof one e tiangle is hlf of 3 4, « Avea of triangle given as base x height
there are 4 it tiangles so x 4
(6x4)+ 2= 14 oron 14x 2= 28
8 uiangles altogether, so one is
48.+8 =7 erro), 4 shaded so 4 x 7 = 28
Area ofrectangle: 6 x 8 = 48,
Avea of white triangle: 3 x 3 x 4 = &
46~ 18 error, answer 30
m Shows the correct unit for their area or method 1 Area incorrect or omitted, but units given

g Ifthe mark(s) for the correct area have not been
o 2ent awarded, condone cm” seen for the third mark
* 2400mm’
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Shape
Correct response Additional guidance

200, with no evidence of an incorrect method
Am  Shows or implies thata = §

Shows or imlies that the area of one rectangle

850
Shows a complete correct method with not more 1 Error made in coefficient of a
than one computational error Follow-through with this value provide:
eg 125 coeficient of a < 20
* 16a=80,50a= 6 (error) e

6x12=72,72x 4=288 * 12a(erro =80, s0a = 66

66x132x4=348
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Areas algebraically

Correct response

‘Additional guidance

1m | Gives a cornece simplifid expression for the area

«
- 150
- iSxaxb

1 | Gives a correce simplifed expression for the
perimeter

«
- Gav 106
- 23458
. Gxas10xb
 2x(ae 36

o5, for the perimeter
* 243a) + 2(55)
“2x(xarSx
1f borh cxpressions are corect but are
parcially simplifed or unsimplifed, mark as
0,1, provided neither has subsequenty been
incortectly simpliied

+ Expressions ransposed but otherwise
comect and simplfied
Mark 230, 1

1 | Gives ot corrct dimensions in cither order,
iedaand 30

¥ Corect dimensions embedded
Accept provided both the arca and perimeter
hase been considered
o8, accep
e st
M= 230 da)

1 Dimensions labelld as length o widdh
gnore





image37.jpg
Correct response.

Gives the correct expression for area A ie
AreaA=y+iw

Gives the correct expression for area B, ie
AreaBey+w

Circle shapes

Additional guidance

| Throughout the question, unconventional
notation or unsimplified expressions
Condone
eg, for Area A, accept
o yrIxw
o yrwewaw
eg, for Area B, accept
o lyeiw
o yrdwezw

1 Answers for Area A and Area B transposed
but otherwise correct
Markas0,1

1 Answers for Area A and Area B correct
followed by incorrect further processing
Markas 0,1
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Tar & Queston.

s
I lu-tc.ma.—-

Bl
Shows a complete correct method with not
mmnmwmam
24122 8(omon, 10 %880

Two shapes
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..- Quadrilateral

Mark Correct response. Additional guidance
m D--adb-lw_ivnm-—d 1 Lines not ruled or accurate
Accept provided the pupil's intention i clear
1 Vertices not on intersections of grid or
on grid lines

Accept provided the vertices are within 2mm of
positions that would give their shape an area of 8

x For 2m, quadrilateral drawn is a rotation or
reflection of the one given

Draws a straight-sided shape with an area of 8 that is:
ot a quadriateral
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T8 Oomten

& Shaded rectangle

1m  Shows or implies that the dimensions of the
rectangle are S{cm) and 10(cm)
0
+5410+5410=30
« 10x10+2
o
‘Shows or implies the calculation 30 + 6 or 30+ 3
9
+ 5454545454523
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‘Shows a correct equation
)

o dnsa=100

e mensns2ens2-10
. an=96

Shows or implies a complate correct method wih
ot mre than one computatonal rtor

g

 00-g+4

o

Kite perimeter

X Necessary brackets omitted.
g
o 100424

X For 1m, method used is trial and improvement
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s, Shaded rectangle
I Iu-t:-nn-— Additional guidance

m  Shows or implies that the dimensions of the
rectangle are S(cm) and 10(cm)
e
©541045410-30
© 10x10+2

or

‘Shows or implies the calculation 30 + 60r 30 + 3
o
© 5454545454523
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‘Shows a correct equation
o

© dnea-100

o mensn+24n+2=10
© an-96

‘Shows or implies a complete correct method with
ot more than one computationsl error

L

 000-4+4

)

Kite perimeter

x Necessary brackets omitted
o
. 100-404

X For 1m, method used is trial and improvement
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T & omton

Mark Correct response

m

Indicates Yes and gives a comect explanation
°

©6x3+2-3x6+2

 you tum the second one round they have the
same base and the same height

* Theyare both9

* Both are halfa 6 by 3rectangle

» Completes 6 by 3 rectangles and indicates that .
is shaded in both

Triangle two
Additional guidance

' Minimally acceptable explanation
I

.9
« They both have the same number of squares

X Incomplete or incorrect explanation
o
o I counted

« They both have 12 squares
« They are both by 3




image45.jpg
Tior & Guesion

e
Mark Correct response

Gives the correct area, is 16.

‘Shows a correct method
b

Sy

- Ly a0

* 8048, then half

Area triangle
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.HC—M:*-

Indicates No and gives a correct explanation that
shows or imples the amount that 11 olls wll
decorate and the perimeter of Kate's room

o
11 rolls papers 20m, but Kate's room is
21m altogether
* Aperimeter of 20m needs 11 rolls, but Kate'sis
‘1m bigger than that
* 6+45-105
105+105=21
‘with the table continued to show 20, 11
 To paper 21m she needs 12 rolls

‘Shows or implies that 11 rolls will paper 20m

?Amdmmu“nummxmk
bigger than that

o

‘Shows or implies the perimeter of the room is 21m

o
©45+6+45+6=21
. 25+6-21

States cleary the relationship between perimeter and

number of rolls needed

i

. For every 2m round the room it goes up by 1 oll

* To find the number of rols divide the length by 2
thenadd 1

Wallpaper
‘Additional guidance

¥ Minimally acceptable explanation
Provided there is no indication of an incorrect
method, accept
g
enn

e a0

o212

o 120l

1 more rollis needed

¥ Half rolls used.

Condone, eg for 2m accept
 She has 11 but she needs 11.5

1 Incorrect units given
ignore.

X For 2m, method used i direct proportion
g
 20mis twice 10m and the table shows that
‘would need 12rolls
* 14mis8rollsso2imis 12rolls
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Drawing

Comect response

“Additional guidance

Draws a rectangle of rea 12

=

by
2bys

Shys

Draws a recangle of area 12, with diferent
dimensionsfrom one credited in part (3]

Draws a riangle of area 6
«

« Base 6, perpendicula height 2
« Base 4, perpendicula height 3
« Base 5, perpendicular height 2.4

 Lines not rled or accurate
Accept provided the pupil's intention is clear

/ Edge of grid used as edge of shape
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Rectangle area

‘Additional guidance

or

Shows or implies the dimensions of the rectangle are

(am) and 10(cm)

or

Shows or implies the area of one X 4 soon but not linked to the area of a white
white square s 4(cm’)
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Tir & Quastion

s L-shape reasoning
Mark Correct response Additional guidance

2m  Jor equivalent fracton or decimal
or
m  Shows the perimeter of the L-shape is 24

Shows a corrct expression forthe perimetar of the
L-shape

g
o TayeT-y
or

Shows or implies a correct exprassion for the area of v IHMW

the Lshape

) 2y and 21 smen
cen * Syand 30 -y seen
o e30-y * 35and 20 - y) seen

. 35-20-y)
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Sizing

Correct response

‘Additional guidance

2m | Givs the correct order of A, C, B accompanied
by onc ofthe following cxplanations, whether
staed o impled:

Side engehs of A and C a6 (or ¥36) and
9 lor 36 + 4) respectivly
Arca of Cis 81 0 9x9)

Perimcterof A s 24 or 6 x.4)

1| Gives ome of the correct explanations as sbove,
bur does ot rder or orders ncorrectly

Givesthe correc ordering but jusifics only
with reference to the side length of A
36 o 136)

Givesthe correct ardering but justifies only
with reference o the side length of C
239 (0r 3644

‘Shows borh that

the area o B s 1296 (or 36 x 36)
and the perimeter of B is 144 (0r 36 x 4]

1 Correct onder given in unconventional way
Accepe provided i is unambigous

e, accept
* Area, perimete,sde lenggh
/ For 2 or tm sde length of A implied by
66 seen

+ For 2m or 1, incorvect working or
incorrect anits alongside a corect response
Ignore

1 Their explanation does not explictly stte
which property andlor square s bing
considered
‘Accepe provided the explanason links the
relevane values 0 36 and accompanies the
comect rdering
s, forside lengths of A and C
for 2m aceept

" Area 36306
perimeter 36 509,
ACH

ACB
However, as many of the relvan values can
be obained from incorrec ecasoning, do not
accept only values 6 and 9 seen
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Ks and ms

Correct response

‘Additional guidance

Draws any shape with perimeter 4 + m

ol

Draws any shape with perimeter 2(2% + m)

Gives a correct expression
&
.o
. 2xm
mxme2

Gives a correct expression

e
.

. axk

. hx2a2
. dhxan) s 4

Lines ot ruled or drawn accurately
Accept provided the pupi’s intention is clear

Accept provided it i clear which is the
‘pupil's final answer
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[Tier & Question

I3-s[a-e[s-7]s-8]

Ks and ms (cont)

147

Correct response

Additional guidance

Gives a correct explanation
@
a They are the same triangle so 201
hence m* = 26
a The areas of the triangles are equal, and
if you divide 2nr* by 2 you get m?,
divide 4K by 2 you get 26
« 1f you multiply both sides by 2, you et the
areas of the two triangles. Since they are
the same, they must be equal

 Explanation uses Pythagoras’ theorem
o«

+ Using Pythagoras, n = £ + &

 Minimally acceptable explanation
o«
oot = 40

Explanation equates expressions for parts
(b) and (c) that are correct but not simplified|
Accept as minimal provided neither
expression is a quotient or includes
a division sign
eg, accept
“2xmxm=2xkx2xk
eg, do not accept
“mx2me2=4kx2ke2

! Follow through
Accept only if both parts (b) and (c) are
incorrect, but not m* and 2/, and neither
expression is a quotient or contains a
division sign, and they lead to the
relationship shown in part (d)
eg, from (b) as 4m* and (c) as 8K, accept

oA = 8k

% Incomplete explanation
L
* The areas of the triangles are equal
« Divide them by 2
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[Ter 8 Question|

b-sfesls7]es| Areas algebraically

19]12] 4 Correct response ‘Additional guidance

alala|tm| Givesa correct simplified expression for the area
e

. 150

" 15xaxh

tm | Gives a correct simplified expression for the ! Partially simplified or unsimplified
perimeter expressions
e eg, for the area
= 6a+ 100 * 3asb
2030+ 5b) eg, for the perimeter
a 6xasl0xh * 2(3) + 2(5h)
= 2 (3a+5h) “ 2x(3xas5xb)

1f both expressions are correct but are
partially simplified or unsimplified, mark as
0, 1, provided neither has subsequently been
incorrectly simplified

Expressions transposed but othenvise
correct and simplified
Mark as 0, 1

bbb tm| Gives both correct dimensions in either order, Correct dimensions embedded
i 4a and 30 Accept provided both the area and perimeter
have been considered
e, accept
< 124 = 3a x 4a

14a = 2(3a + 4a)

t Dimensions labelled as length or width
Ignore





